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Problems {104 points)

1. (20 points)  Schulz Corporation applies overhend based upon machine-hours. Budgered factory overhead wos
£266,400 and budgeted machine-hours were 18,500, Actual factory overhead was 5287 920 and actual
machine-hours were 19,050, Before disposition of underfoverapplied overhead, the cost of goods sold was
$360,000 and ending inventories were as follows:

Direct materiaks § 60,000
WIP 1Sk, 008
Finished goods 23,000
Tatal B500,000
Required:

s Compote the over/underapplied overhead. (3 pomnts)
b, Prepare the journal entry to dispose of the variance using the write-off 1o cost of goods sold approach (5 points)
c. Prepare the journal entry to dispose of the varisnce using the proration approach. { 10Paints)

2. (20 paints) Munaz, Inc., produces a special line of plastic woy racing cars. Munoz, Inc., produces the cars in batches.
To munufaciure o barch of the cars; Munoz, Inc., must st ap the machines and molds. Setup costs are batch-level costs
because they nre associzted with batches rather than individueal units of products. A separate Semup Depariment 15
responsible for setting up machines and malds for different styles of car.

Setup ovechead costs consist of some costs that are variable and some costs that are fixed with respect to the number of
setup-hours, The following mformation pertains to June 2011

Actual Static-budget

Amounis Amaunts

Linits produced and sold 15,000 11250
Barch size (number of units per batch) 250 225
Setup-hours per batch 5 525
Variable overhead cost per setup-hour 540 $38
Totul fixed setup overhead costs FI12,000 £§0.975

Required:
o Calculate the effigiency varignce for vanable setup overhead costs, (4 points)
b. Calculate the spending variance for variable setup overhead costs. (4 points)
c. Calculate the fexible-budget variance for variable setup overhead costs. (4 poinis)
d Caleulare the spending variance for fived setup overhead costs. (4 points)
. Calculaie the production-volume varionce for fived selup overhead costs. (4 points)

3. (20 points) Weather Instruments assembles products from component parts. 1t has two departments that process all
products. During January, the begmning work in process in the assembly department was half complete 15 to conversion
and complete as 1o divect materials, The beginning inventory included $12.000 for materiake and 54,000 for conversion
costs, Overhead is applied at the rate of 30% of direct manofacturing labor costs. Ending work-in-process mventory n
the assembly department was 40%, complete. All spoilage is considered normal and is detected al the end of the process.
Beginning work in process in the finishing department was 75% complets as 10 conversion and ending work in process
was 25% converted. Direct materials are ndded at the end of the process. Beginning inventories included $16,0040 for
transferred-in costs and 510,000 for direct manufacturing labor costs, Cverhead in this department is equal (o direct
manufacturing labor costs. Additional information about the two departments follows:

Finsshing
Hegmning work-in-process units 20,000 24,000
Units started this perigd 40,000 ?
Units transferred this period S0,000 34,000
Ending work-in-process units 8,000 20 (616
Material costs added 44,000 S2B,000
Direct manufacturing labor £16,000 £24,000

Required: (20 %)
Prepare a production cost worksheet using FIFD for the finishing depariment.
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4. 120 points) The Chair Company manufactures two moduolar types of chairs- one for the residential market, and the
other for the office market. Hudgeted and actual operating dara for the vear 200 are

Static Budger
Resdential Office Total
Mumber of chairs sold 260, 00M | 40,000 40000
Contribution marzin F26,000,000 S11,200,000 $37,200,000

Actual Results

Hesidential (Mfice Total
Mimber of chairs sold e AT 165,600 & 14,000
Contribution marzin £22 356,004 £13 248,000 $35 604,000

In late 2000, an office products research fimi estimated the industry volume for residential and office chabrs of
the fype suld by the Chair company t be 2,400,000, Actial industry volume for the vear 2040

was 2, 200,000 chairs.

Required:

a. Compute the sale-mix variance and the sales-quantity varianee by type of chair, and in total, {10 points)

b. Compure the market-share variance and market-size varianee. (10 points)

3. {20 points} Clay Company has projected sales and production in units for the second quarter of the coming year as

foltows:

April May Jume
Sales .o S0000 20,000 60,000
Production ... 60000 50,000 50,000

Cash-refated production costs are budgeted at §5 per unit produced. OF these production costs, 408 are paid in
the maonth in which they are incurred and the balance in the following month. Selling and administrative expenses
will amount o 5 100,000 per month. The aceounts payable balanee on March 31 totals 190,000, which will be ki
in April
All units are sold on account for §14 each. Cash collections from sales are budgeted at 60% in the month of sale, 30%
in the month following the month of sale, and the remaining 0% in e second month fallowing the month of sale,
Accounts receivable on April | totaled $500,000 (590,000 from February's sales and the remainder from March),
Required:

a. Prepare a schedule for each manth showing budgeted cash disbursemenis for the Clay Company. (10 poinis}

b. Prepare u schedule for gach month showing budgeted cash receipis for Clay Company, (10 paints)
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